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QUESTION 1

Where are the performance metrics for Write Buffer Free percentage located?

A. host level vSAN performance metrics

B. VSAN capacity graphs

C. VSAN Health Check

D. cluster level vSAN performance metrics

Correct Answer: D

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/

GUID-97A69368-F085-451B-A53C-2210C1554A9D.html

QUESTION 2

Which vSAN Health Check category is viewed to confirm supported storage controller drivers are in use across all hosts
in the cluster?

A. Capacity view

B. Device mapping

C. vSAN Build Recommendations
D. Hardware compatibility
Correct Answer: D

Reference: https://kb.vmware.com/s/article/2149405

QUESTION 3

The cluster level backend IOPS performance graph shows a higher-than-average number of IOPS. What is a possible
reason for this?

A. Data resynchronizations

B. Low volume of vSAN vital memory pools
C. DRS invoking multiple vMotion migrations
D. Destaging congestion

Correct Answer: A

Reference: https://kb.vmware.com/s/article/2144493

Latest 5V0-21.19 Dumps | 5V0-21.19 Study Guide | 5V0-21.19 Braindumps 2/4


https://www.geekcert.com/5v0-21-19.html
https://www.geekcert.com/5v0-21-19.html
https://www.geekcert.com/5v0-21-19.html

VCE & PDF https://lwww.geekcert.com/5v0-21-19.html
2024 Latest geekcert 5V0-21.19 PDF and VCE dumps Download

GeekCert.com

QUESTION 4

Refer to the red question mark in the exhibit.

2-Node vSAN Cluster (Hybrid)

Hypervisor vSphere vSAN I

[==] = [ | - L ]
ESXiHosts Il ©O Mla = = = = = =M O M =T
10GbE Direct Connect 2
vSAN traffic -
Re:liurll:gant
Upli
= ESEaEanves

1GbE / 10GbE Switch

When designing a 2-node vSAN cluster, which missing configuration requirement prevents a split-brain scenario?
A. vRealize Operations Manager

B. vSAN Witness Host

C. vCenter Server

D. vRealize Log Insight

Correct Answer: B

Reference: https://storagehub.vmware.com/static/media/9352db50-6eef-45¢8-9646-8ccf2175e59b.pdf

QUESTION 5

An administrator wants to increase the capacity of a disk group cache device.
What is required to increase the cache device size?

A. Hot swap the disk group cache device.

B. Perform a storage vMotion between disk groups.

C. Put the disk group in maintenance mode and swap the cache device.

D. Recreate the disk group with a new cache device.

Correct Answer: D

Reference: https://www.driftar.ch/index.php/2017/09/05/how-to-delete-and-change-vmware-vsan-diskgroups/
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